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U Pearson’s product-moment correlation

data: shintai$height and shintai$weight
t = 8.0984, df = 78, p-value = 6.067e-12
alternative hypothesis: true correlation is not equal to O
95 percent confidence interval:
0.5356690 0.7797683
sample estimates:
cor

0.6758432

N\ J

t=38.0840000000000000¢t0000004af =7800000000000O0
0000000000000 df = n-200)0p-value = 6.067e-120 p 00000000
O00006.067e-12<0.01 000 1%(0.01) OO0O0OO0O0OOODMOOOOOOOOOOOOOO
00000000000000000 0000000000000000000 o000
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4 2
> corRes <- cor.test(shintai$height, shintai$weight) e
> str(corRes)
List of 9
$ statistic : Named num 8.1
..— attr(*, "names")= chr "t"
$ parameter : Named num 78
..— attr(x, "names")= chr "df"
$ p.value : num 6.07e-12
$ estimate : Named num 0.676
..— attr(x, "names")= chr "cor"
$ null.value : Named num O
..— attr(*, "names")= chr "correlation"
$ alternative: chr "two.sided"
$ method : chr "Pearson’s product-moment correlation"
$ data.name : chr "shintai$height and shintai$weight"
$ conf.int : atomic [1:2] 0.536 0.780
..— attr(x, "conf.level")= num 0.95
- attr(*x, "class")= chr "htest"
> corRes$estimate(«) # 100000000
cor
\‘0.6758423 )
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& = Sln(3—)
1. 1+p
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00000000 2000000z 000000000000000
‘Z0’: |£7‘_£P‘
_1
n—3

00 2000000000000000000O0000O0D01% 000 5% 000000000000
000000000000 2(#0)0000000000000000000000 *200000
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> zr <- atanh(corRes$estimate)

> zrho <- atanh(0.5)

> z <- abs(zr-zrho)/sqrt(1/( corRes$parameter+2 - 3))
> p <~ 2*pnorm(z, mean=0, sd=1, lower.tail=FALSE)

> 2
[1] 2.38779386
> p
[1]1 0.01694985
N J
atanh(x) 00 $in{2 000000abs() 000000000 0pnorm() 00000000

0000000000000 00000000D000000000000 0(mean=0)00000
1(sd=1)000000000

corRes$estimate 000 0000000000000 OOOO-20000000000000
corRes$parameter+2 00000000 O0DODO0ODOO0OO=z =2.38779386 000 0000
p =0.01694985 000 pOOOOOODOOOOpO 0.0500000000000DOODODO
00000050 5% 000000000000000000000O0O0O0O
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Call:

lm(formula = height ~ weight, data = shintai)

Residuals:
Min 1Q Median 3Q Max
-14.9925 -3.8123 0.4476 3.1975 14.3058

Coefficients:

Estimate Std. Error t value Pr(>|t|)
(Intercept) 135.77312 3.37018 40.287 < 2e-16 *xx
weight 0.47740 0.05895 8.098 6.07e-12 **x
Signif. codes: O ’*x%’ 0.001 ’*x’ 0.01 ’x’ 0.05 .7 0.1’ 7> 1

Residual standard error: 5.53 on 78 degrees of freedom

Multiple R-Squared: 0.4568, Adjusted R-squared: 0.4498
F-statistic: 65.58 on 1 and 78 DF, p-value: 6.067e-12
N\ J

Residuals 0000000 02% 0000000007% 0000000000000000
00 CoefficientsUUUOUOOODODOOOOOOOOOODODODODOOOOOOOOODODbODODDO
O0OO0OEstimate 00 00135.77312000 « 0000477400 0000 60000000000
00 =047740 « 00 4 135.77312000000000000000000Std.Error 0000
000000000000t valueO Pr(>¢)) D000 0000O0OOO0OOOOOOOODOOO
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my_cal <- function(x,y)
{
p<-x+

m <- X -

< < <

t <- X %
d<-x/y
return(c(p,m,t,d))

C y

my_cal <- function(x,y) 00200000xy000000000Omy_calDOOODODOO
00000000000000000000000{003Y000000return() 0000000
goooobogboboobooobooboboobbooboobobooboboooboon
gboobooboooboobbodbibUOmy_cal.ROOOODOOODOOOO0ODOOOO
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‘ )
> my_cal(2,3)

[1] 5.0 1.0 6.0 1.5

> my_cal(100,10)
[1] 110 90 1000 10

- J

structure U0 O O00O00OO0ODOO0OODOODOOOODOOODODOODOO

2000000000000000 (DDDDDDD)
my_cal <- function(x,y)
{

p<-x+y




m<-x -y
t<-x *xy
d<-x/y
return(structure(c(p,m,t,d) ,names=paste(c("+","=","%x" "/")))) # 0000

C y

4 )
> my_cal(2,3)

+ - * /

5.0000000 -1.0000000 6€.0000000 0.6666667
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